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MURURIA  SECONDARY SCHOOL

FORM 2 MATHEMATICS TUNE UP TERM 1 2015 EXAM    
NAME: ……………………………ADM.NO. …………CLASS:……
Attempt all questions.

1.  A man divides his savings amongst his son daughter and wife.  His wife gets sh. 6000 more than the daughter and the son receives twice as much as his mother.  If the total saving is sh.126000, find how much each gets.  4 mks

2.  Express 2.8.3 as a fraction.  2 mks

3.  Find the perimeter of the following figure.  3 mks 

4.  The length of a minute hand of a clock is 3.5 cm.  Find the angle it turns through if it sweeps an area of 4.8cm2.  (Take   = 22/7)  3 mks

5.  Evaluate     3 mks 



1  -  √(7/16 + 1/8)      ÷  12/7



(2/3)2 – (1/2)2     

6.  Three lorries, each making five trips per day can transport 2500 crates from a factory to a distributor in two days.  How many lorries, each working six trips a day, are needed to transport 10,000 such crates in one day.  3 mks

7.  Simplify   2 mks



2x – 3  -  3x + 2



     3

  5
8.  The total number of pupils who play tennis and volleyball in a class is 14.  If there are six more pupils playing volleyball than tennis.  Find the number of pupils in each team, given that no pupil plays more than one game.  3 mks 

9.  The area of a trapezium is 20cm2 and the lengths of the parallel sides are 41m and 6 cm.  Calculate the percentage increase in its area if the perpendicular distance between the parallel sides is increased by 2 cm.  4 mks 

10.  The cost of a rectangular manila paper of length 0.5m, width o.3m and thickness 1mm is 8 shillings per m2.  Find the total cost of a pile of similar manila papers of height 4.4 m.  3 mks


